
Part A 

A sculptor is making a statue of a duck She 
first creates a model. To make the model 
requires exactly 2 kg of bronze. The final 
statue will be 5 times the size of the model. 
How much bronze, in kg, will she require to 
cast the final statue? 

1.  2 
2.  10
3.  25
4.  50
5.  250

Part B 

When the sculptor finished making her model of the duck statue, she gave it 2 coats of 
varnish. This took exactly one can of varnish. How many cans of varnish will she need 
to give the final statue 2 coats of varnish? 

1.  10
2.  25
3.  50
4.  125
5.  250


